

THE STEINER SYMMETRIZATION OF LOG-CONCAVE FUNCTIONS AND ITS APPLICATIONS

YOUJIANG LIN AND GANGSONG LENG

(Communicated by G. Sinnamon)

Abstract. In this paper, we give a new definition of functional Steiner symmetrizations on log-concave functions. Using the functional Steiner symmetrization, we give a new proof of the classical Prékopa-Leindler inequality on log-concave functions.

1. Introduction

Functional Steiner symmetrization, as a kind of important rearrangement of functions, has been studied in [1, 3, 4, 5, 6, 7, 8]. For a nonnegative measurable function f , the familiar definition of its Steiner symmetrization (see [3, 4, 5, 8]) is defined as follows:

DEFINITION 1.1. For a nonnegative measurable function f on \mathbb{R}^n vanishing at infinity, its Steiner symmetrization is defined as

$$\bar{S}_u f(x) = \int_0^\infty \mathcal{X}_{\bar{S}_u E(t)}(x) dt, \quad (1.1)$$

where $\bar{S}_u E(t)$ is the Steiner symmetrization of the level set $E(t) := \{x \in \mathbb{R}^n : f(x) > t\}$ about the hyperplane u^\perp and $\mathcal{X}_{\bar{S}_u E(t)}$ denotes the characteristic function of $\bar{S}_u E(t)$.

In this paper, for log-concave functions, we give a new definition of the functional Steiner symmetrization. Our definition provides a new approach to the original definition, but we do not use geometric Steiner symmetrization and our approach is more suitable for certain functional problems.

DEFINITION 1.2. For an integrable log-concave function $f : \mathbb{R}^n \rightarrow \mathbb{R}$ and a hyperplane $H = u^\perp$ ($u \in S^{n-1}$) in \mathbb{R}^n , for any $x = x' + tu \in \mathbb{R}^n$, where $x' \in H$ and $t \in \mathbb{R}$, we define the *Steiner symmetrization* $S_u f$ (or $S_H f$) of f about H by

$$(S_u f)(x) = \inf_{\lambda \in [0,1]} \sup_{t_1 \in \mathbb{R}} [f(x' + t_1 u)^\lambda f(x' + (t_1 + 2t)u)^{1-\lambda}]. \quad (1.2)$$

Mathematics subject classification (2010): 46E30, 52A40.

Keywords and phrases: Rearrangements of functions, Steiner symmetrizations, Prékopa-Leindler inequality.

The authors would like to acknowledge the support from the 973 Program 2013CB834201, National Natural Science Foundation of China under grant 11271244.

By Remark 1, $S_u f$ is also log-concave.

A central inequality connected with the Minkowski sum of two bodies $A, B \subset \mathbb{R}^n$ and a parameter $0 \leq \lambda \leq 1$ is the Brunn-Minkowski inequality:

$$\text{Vol}_n(\lambda A + (1 - \lambda)B) \geq \text{Vol}_n(A)^\lambda \text{Vol}_n(B)^{1-\lambda}.$$

The Prékopa-Leindler inequality (e.g., [10]) is the functional analogue of the Brunn-Minkowski inequality: For given log-concave functions $f, g \in L^1 : \mathbb{R}^n \rightarrow \mathbb{R}^+$ and $0 \leq \lambda \leq 1$,

$$\int_{\mathbb{R}^n} \sup\{f(x)^\lambda g(y)^{1-\lambda} : \lambda x + (1 - \lambda)y = z\} dz \geq \left(\int_{\mathbb{R}^n} f(z) dz\right)^\lambda \left(\int_{\mathbb{R}^n} g(z) dz\right)^{1-\lambda}.$$

Prékopa-Leindler inequality is closely related to the reverse Young’s inequality and a number of other important and classical inequalities in analysis. Prékopa-Leindler inequality is a reverse form of Hölder’s inequality and a particular case of the reverse Brascamp-Lieb inequalities (see [2, 9]). In this paper, using the functional Steiner symmetrization, we give a new proof of the Prékopa-Leindler inequality on the log-concave functions.

2. The equivalence between new and original definitions

In this section, for log-concave functions, we prove the new definition is equivalent to the original definition. First, we give the Steiner symmetrization on convex sets.

DEFINITION 2.1. Let K be a non-empty convex set in \mathbb{R}^n and let H be a hyperplane in \mathbb{R}^n with unit normal vector u . The Steiner symmetrization $S_H K$ of K about H is defined as:

$$S_H K = \{x' + \frac{1}{2}(t_1 - t_2)u : x' \in P_H(K), t_i \in I_K(x') \text{ for } i = 1, 2\}, \tag{2.1}$$

where $P_H(K) = \{x' \in H : x' + tu \in K \text{ for some } t \in \mathbb{R}\}$ is the projection of K onto the hyperplane H and $I_K(x') = \{t \in \mathbb{R} : x' + tu \in K\}$.

It is well-known that the Steiner symmetrization of the subgraph of f is equivalent to the subgraph of the Steiner symmetrization of f , i.e.,

$$S_u(\mathcal{S}_f) = \mathcal{S}_{\bar{S}_u f},$$

where $\mathcal{S}_f = \{(x, t) \in \mathbb{R}^{n+1} : 0 < t \leq f(x)\}$ denotes the subgraph of f and $\bar{S}_u f$ is given by Definition 1.1. Therefore, in order to prove the equivalence between Definition 1.1 and Definition 1.2, it is sufficient to prove that

$$S_u(\mathcal{S}_f) = \mathcal{S}_{S_u f}, \tag{2.2}$$

where $S_u f$ is given in Definition 1.2.

PROPOSITION 2.1. For an integrable log-concave function $f : \mathbb{R}^n \rightarrow \mathbb{R}$ and a hyperplane $H = u^\perp$ ($u \in S^{n-1}$) in \mathbb{R}^n , for any $x' \in H$, let $\phi_1(t) = S_u f(x' + tu)$ and $\phi(t) = f(x' + tu)$, then ϕ_1 is an even log-concave function about $t \in \mathbb{R}$ and for any $s \geq 0$

$$\text{Vol}_1([\phi_1 \geq s]) = \text{Vol}_1([\phi \geq s]).$$

Proof. By equality (1.2), it is clear that ϕ_1 is an even function. For any $s \geq 0$, if $[\phi \geq s] = [t_0, t_0 + 2t]$, next we prove that ϕ_1 is log-concave and $[\phi_1 \geq s] = [-t, t]$. First we prove

$$\phi_1(t) = \phi(t_0) = \phi(t_0 + 2t) = s, \tag{2.3}$$

where $\phi(t_0) = \phi(t_0 + 2t) = s$ is clear. By (1.2), we have

$$\begin{aligned} \phi_1(t) &= \inf_{\lambda \in [0,1]} \sup_{t_1 \in \mathbb{R}} [f(x' + t_1 u)^\lambda f(x' + (t_1 + 2t)u)^{1-\lambda}] \\ &\geq \inf_{\lambda \in [0,1]} [f(x' + t_0 u)^\lambda f(x' + (t_0 + 2t)u)^{1-\lambda}] \\ &= s. \end{aligned} \tag{2.4}$$

On the other hand, we prove that there is some $\lambda \in (0, 1)$ such that

$$\sup_{t_1 \in \mathbb{R}} [\phi(t_1)^\lambda \phi(t_1 + 2t)^{1-\lambda}] = s.$$

Since ϕ is a log-concave function defined in \mathbb{R} and by Theorem 1.5.2 in [11], both the right derivative ϕ'_r and the left derivative ϕ'_l exist. It is clear that $\phi'_r(t_0 + 2t) \leq 0$ and $\phi'_l(t_0) \geq 0$, if $\phi'_r(t_0) - \phi'_l(t_0 + 2t) \neq 0$, then let $\lambda_0 = \frac{-\phi'_r(t_0 + 2t)}{\phi'_l(t_0) - \phi'_r(t_0 + 2t)}$; if $\phi'_r(t_0) - \phi'_l(t_0 + 2t) = 0$, since $\phi'_r(t_0 + 2t) \leq 0$ and $\phi'_l(t_0) \geq 0$, we have $\phi'_l(t_0 + 2t) = 0$ and $\phi'_r(t_0) = 0$, for this case, let λ_0 be any real number on $(0, 1)$. Let $\Phi(t') = \phi(t')^{\lambda_0} \phi(t' + 2t)^{1-\lambda_0}$, then $\Phi(t')$ is also log-concave, its right derivative at $t' = t_0$ satisfies

$$\Phi'_r(t_0) = \lambda_0 \phi'_r(t_0) + (1 - \lambda_0) \phi'_r(t_0 + 2t) = 0.$$

Thus

$$\sup_{t_1 \in \mathbb{R}} [\phi(t_1)^{\lambda_0} \phi(t_1 + 2t)^{1-\lambda_0}] = [\phi(t_0)^{\lambda_0} \phi(t_0 + 2t)^{1-\lambda_0}] = s.$$

Thus, $\phi_1(t) = s$.

Next, we prove that ϕ_1 is log-concave. Since ϕ_1 is even, it suffices to prove that for any $0 \leq t_1 < t_2$ and $0 < \alpha < 1$,

$$\phi_1(\alpha t_1 + (1 - \alpha)t_2) \geq \phi_1^\alpha(t_1) \phi_1^{1-\alpha}(t_2). \tag{2.5}$$

By (2.3), there are t_0, t'_1 and t'_2 satisfying

$$\phi_1(t_1) = \phi(t'_1) = \phi(t'_1 - 2t_1), \tag{2.6}$$

$$\phi_1(t_2) = \phi(t'_2) = \phi(t'_2 - 2t_2) \tag{2.7}$$

and

$$\phi_1(\alpha t_1 + (1 - \alpha)t_2) = \phi(t_0) = \phi(t_0 - 2(\alpha t_1 + (1 - \alpha)t_2)). \tag{2.8}$$

Since ϕ is log-concave, we have

$$\phi(\alpha t'_1 + (1 - \alpha)t'_2) \geq \phi(t'_1)^\alpha \phi(t'_2)^{1-\alpha} = \phi_1(t_1)^\alpha \phi_1(t_2)^{1-\alpha} \tag{2.9}$$

and

$$\begin{aligned} \phi(\alpha t'_1 + (1 - \alpha)t'_2 - 2(\alpha t_1 + (1 - \alpha)t_2)) &\geq \phi(t'_1 - 2t_1)^\alpha \phi(t'_2 - 2t_2)^{1-\alpha} \\ &= \phi_1(t_1)^\alpha \phi_1(t_2)^{1-\alpha}. \end{aligned} \tag{2.10}$$

Since the distance between $\alpha t'_1 + (1 - \alpha)t'_2$ and $\alpha t'_1 + (1 - \alpha)t'_2 - 2(\alpha t_1 + (1 - \alpha)t_2)$ is $2(\alpha t_1 + (1 - \alpha)t_2)$ and ϕ is log-concave, by the second equality in (2.8), we have

$$\phi(t_0) \geq \phi(\alpha t'_1 + (1 - \alpha)t'_2) \tag{2.11}$$

or

$$\phi(t_0 - 2(\alpha t_1 + (1 - \alpha)t_2)) \geq \phi(\alpha t'_1 + (1 - \alpha)t'_2 - 2(\alpha t_1 + (1 - \alpha)t_2)). \tag{2.12}$$

By (2.8)-(2.12), we have

$$\phi_1(\alpha t_1 + (1 - \alpha)t_2) \geq \phi_1^\alpha(t_1) \phi_1^{1-\alpha}(t_2),$$

which implies that ϕ_1 is log-concave.

Since ϕ_1 is even and log-concave and (2.3), we have $[\phi_1 \geq s] = [-t, t]$, which implies that for any $s \geq 0$, $Vol_1([\phi_1 \geq s]) = Vol_1([\phi \geq s])$. \square

REMARK 1. By the similar proof of Proposition 2.1, we can prove that $S_u f$ given in (1.2) is also log-concave. By Proposition 2.1, for any $x' \in u^\perp$, if $\phi(t) = f(x' + tu)$, then $S_u(\mathcal{S}_\phi) = \mathcal{S}_{S_u \phi}$. Since $x' \in u^\perp$ is arbitrary, we have $S_u(\mathcal{S}_f) = \mathcal{S}_{S_u f}$.

3. Proof of Prékopa-Leindler inequality

LEMMA 3.1. Let $0 < \lambda < 1$ and let $f, g \in L^1 : \mathbb{R}^+ \rightarrow \mathbb{R}^+$ be log-concave functions, then

$$\begin{aligned} &\int_0^{+\infty} \sup\{f(x)^\lambda g(y)^{1-\lambda} : x \geq 0, y \geq 0, \lambda x + (1 - \lambda)y = z\} dz \\ &\geq \left(\int_0^{+\infty} f(z) dz\right)^\lambda \left(\int_0^{+\infty} g(z) dz\right)^{1-\lambda}. \end{aligned} \tag{3.1}$$

Proof. We can assume without loss of generality that f and g are bounded with

$$\sup_{x \in \mathbb{R}^+} f(x) = \sup_{x \in \mathbb{R}^+} g(x) = 1.$$

If $t \geq 0$, $x \geq 0$ and $y \geq 0$, $f(x) \geq t$, and $g(y) \geq t$, let

$$\Phi(z) = \sup\{f(x)^\lambda g(y)^{1-\lambda} : x \geq 0, y \geq 0, \lambda x + (1-\lambda)y = z\},$$

then

$$\Phi(\alpha x + (1-\alpha)y) \geq f(x)^\lambda g(y)^{1-\lambda} \geq t.$$

With the notation for upper level sets,

$$[\Phi \geq t] \supseteq \alpha[f \geq t] + (1-\alpha)[g \geq t],$$

where $[f \geq t] = \{x \in \mathbb{R}^+ : f(x) \geq t\}$. The sets on the right-hand side are nonempty, so by Fubini's theorem and the arithmetic-geometric mean inequality, we obtain

$$\begin{aligned} \int_0^{+\infty} \Phi(z) dz &\geq \int_0^1 \text{Vol}_1([\Phi \geq t]) dt \geq \int_0^1 \text{Vol}_1(\alpha[f \geq t] + (1-\alpha)[g \geq t]) dt \\ &= \alpha \int_0^1 \text{Vol}_1([f \geq t]) dt + (1-\alpha) \int_0^1 \text{Vol}_1([g \geq t]) dt \\ &= \alpha \int_0^{+\infty} f(z) dz + (1-\alpha) \int_0^{+\infty} g(z) dz \\ &\geq \left(\int_0^{+\infty} f(z) dz \right)^\alpha \left(\int_0^{+\infty} g(z) dz \right)^{1-\alpha}. \end{aligned} \tag{3.2}$$

□

LEMMA 3.2. *If h_1, h_2 are one-dimensional increasing convex functions defined on $[0, +\infty)$, then, for $0 < \lambda < 1$,*

$$\begin{aligned} &\int_{\mathbb{R}^n} \sup\{e^{-[\lambda h_1(|x|) + (1-\lambda)h_2(|y|)]} : \lambda x + (1-\lambda)y = z\} dz \\ &\geq \left(\int_{\mathbb{R}^n} e^{-h_1(|z|)} dz \right)^\lambda \left(\int_{\mathbb{R}^n} e^{-h_2(|z|)} dz \right)^{1-\lambda}. \end{aligned}$$

Proof. By the polar coordinate transformation and the monotonicity of functions h_1 and h_2 , we have

$$\begin{aligned} &\int_{\mathbb{R}^n} \sup\{e^{-[\lambda h_1(|x|) + (1-\lambda)h_2(|y|)]} : \lambda x + (1-\lambda)y = z\} dz \\ &= \int_{S^{n-1}} \int_0^{+\infty} \sup\{e^{-[\lambda h_1(r_1) + (1-\lambda)h_2(r_2)]} : \lambda r_1 \theta_1 + (1-\lambda)r_2 \theta_2 = r\theta\} r^{n-1} dr d\theta \\ &= \int_{S^{n-1}} \int_0^{+\infty} \sup\{e^{-[\lambda h_1(r_1) + (1-\lambda)h_2(r_2)]} : \lambda r_1 \theta_1 + (1-\lambda)r_2 \theta_2 = r\theta\} r^{n-1} dr d\theta \\ &= \omega_n \int_0^{+\infty} \sup\{e^{-[\lambda h_1(r_1) + (1-\lambda)h_2(r_2)]} : \lambda r_1 + (1-\lambda)r_2 = r\} r^{n-1} dr. \end{aligned} \tag{3.3}$$

For $r_1 \geq 0$ and $r_2 \geq 0$ such that $\lambda r_1 + (1 - \lambda)r_2 = r$, we have

$$r_1^\lambda r_2^{1-\lambda} \leq \lambda r_1 + (1 - \lambda)r_2 = r.$$

Hence, we have

$$\begin{aligned} & \sup \left\{ \left(e^{-h_1(r_1)} r_1^{n-1} \right)^\lambda \left(e^{-h_2(r_2)} r_2^{n-1} \right)^{1-\lambda} : \lambda r_1 + (1 - \lambda)r_2 = r, r_1 \geq 0, r_2 \geq 0 \right\} \\ & \leq r^{n-1} \sup \left\{ e^{-[\lambda h_1(r_1) + (1-\lambda)h_2(r_2)]} : \lambda r_1 + (1 - \lambda)r_2 = r, r_1 \geq 0, r_2 \geq 0 \right\}. \end{aligned}$$

Therefore, by (3.3) and Lemma 3.1, we have

$$\begin{aligned} & \int_{\mathbb{R}^n} \sup \{ e^{-[\lambda h_1(|x|) + (1-\lambda)h_2(|y|)]} : \lambda x + (1 - \lambda)y = z \} dz \\ & \geq \omega_n \int_0^{+\infty} \sup \left\{ \left(e^{-h_1(r)} r_1^{n-1} \right)^\lambda \left(e^{-h_2(r_2)} r_2^{n-1} \right)^{1-\lambda} : \lambda r_1 + (1 - \lambda)r_2 = r, \right. \\ & \qquad \qquad \qquad \left. r_1 \geq 0, r_2 \geq 0 \right\} dr. \\ & \geq \left(\omega_n \int_0^{+\infty} e^{-h_1(r)} r^{n-1} dr \right)^\lambda \left(\omega \int_0^{+\infty} e^{-h_2(r)} r^{n-1} dr \right)^{1-\lambda} \\ & = \left(\int_{\mathbb{R}^n} e^{-h_1(|z|)} dz \right)^\lambda \left(\int_{\mathbb{R}^n} e^{-h_2(|z|)} dz \right)^{1-\lambda}. \end{aligned}$$

this completes the proof. \square

LEMMA 3.3. Let $u \in S^{n-1}$ and $\lambda \in (0, 1)$, if $\phi_i : \mathbb{R}^n \rightarrow \mathbb{R}$ are convex functions and $e^{-\phi_i} \in L_1, i = 1, 2$ then for every z

$$\begin{aligned} & \inf \{ \lambda S_u \phi_1(x) + (1 - \lambda)S_u \phi_2(y); \lambda x + (1 - \lambda)y = z \} \\ & \geq S_u \{ \inf \{ \lambda \phi_1(x) + (1 - \lambda)\phi_2(y); \lambda x + (1 - \lambda)y = z \} \}. \end{aligned} \tag{3.4}$$

Proof. Let $x = x' + t_1 u, y = y' + t_2 u$ and $z = z' + tu$, where $x', y', z' \in u^\perp$, then we have

$$\begin{aligned} & S_u \{ \inf \{ \lambda \phi_1(x) + (1 - \lambda)\phi_2(y); \lambda x + (1 - \lambda)y = z \} \} \\ & = \sup_{\alpha \in [0, 1]} \inf_{t' \in \mathbb{R}} \left[\alpha \inf \{ \lambda \phi_1(x) + (1 - \lambda)\phi_2(y); \lambda x + (1 - \lambda)y = z' + t'u \} \right. \\ & \quad \left. + (1 - \alpha) \inf \{ \lambda \phi_1(x) + (1 - \lambda)\phi_2(y); \lambda x + (1 - \lambda)y = z' + (t' + 2t)u \} \right] \\ & = \sup_{\alpha \in [0, 1]} \inf_{t' \in \mathbb{R}} \left[\alpha \inf \left\{ \lambda \phi_1(x' + t'_1 u) + (1 - \lambda)\phi_2(y' + t'_2 u); \lambda x' + (1 - \lambda)y' = z', \right. \right. \\ & \quad \left. \left. \lambda t'_1 + (1 - \lambda)t'_2 = t' \right\} + (1 - \alpha) \inf \left\{ \lambda \phi_1(x' + t''_1 u) + (1 - \lambda)\phi_2(y' + t''_2 u); \right. \right. \\ & \quad \left. \left. \lambda x' + (1 - \lambda)y' = z', \lambda t''_1 + (1 - \lambda)t''_2 = t' + 2t \right\} \right] \end{aligned}$$

$$\begin{aligned}
 &= \sup_{\alpha \in [0,1]} \inf_{t' \in \mathbb{R}} \left[\alpha \inf \left\{ \lambda \phi_1(x' + t'u) + (1-\lambda) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \frac{t' - \lambda t'_1}{1-\lambda} u \right); x' \in u^\perp, t'_1 \in \mathbb{R} \right\} \right. \\
 &\quad \left. + (1-\alpha) \inf \left\{ \lambda \phi_1(x' + t''_1 u) + (1-\lambda) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \frac{t' + 2t - \lambda t''_1}{1-\lambda} u \right); x' \in u^\perp, t''_1 \in \mathbb{R} \right\} \right] \\
 &\leq \sup_{\alpha \in [0,1]} \inf_{(t', t'_1, t''_1) \in \mathbb{R}^3} \inf_{x' \in u^\perp} \left[\alpha \left\{ \lambda \phi_1(x' + t'_1 u) + (1-\lambda) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \frac{t' - \lambda t'_1}{1-\lambda} u \right) \right\} \right. \\
 &\quad \left. + (1-\alpha) \left\{ \lambda \phi_1(x' + t''_1 u) + (1-\lambda) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \frac{t' + 2t - \lambda t''_1}{1-\lambda} u \right) \right\} \right]. \tag{3.5}
 \end{aligned}$$

On the other hand, we have

$$\begin{aligned}
 &\inf \{ \lambda S_u \phi_1(x) + (1-\lambda) S_u \phi_2(y); \lambda x + (1-\lambda)y = z \} \\
 &= \inf \left\{ \lambda S_u \phi_1(x' + t_1 u) + (1-\lambda) S_u \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \frac{t - \lambda t_1}{1-\lambda} u \right); x' \in u^\perp, t_1 \in \mathbb{R} \right\} \\
 &= \inf_{\{x' \in u^\perp, t_1 \in \mathbb{R}\}} \left\{ \lambda \sup_{\alpha \in [0,1]} \inf_{t'_1 \in \mathbb{R}} [\alpha \phi_1(x' + t'_1 u) + (1-\alpha) \phi_1(x' + (t'_1 + 2t_1)u)] \right. \\
 &\quad \left. + (1-\lambda) \sup_{\alpha \in [0,1]} \inf_{t'_2 \in \mathbb{R}} \left[\alpha \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + t'_2 u \right) + (1-\alpha) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \left(t'_2 + 2 \frac{t - \lambda t_1}{1-\lambda} \right) u \right) \right] \right\} \\
 &\geq \inf_{\{x' \in u^\perp, t_1 \in \mathbb{R}\}} \sup_{\alpha \in [0,1]} \left\{ \lambda \inf_{t'_1 \in \mathbb{R}} [\alpha \phi_1(x' + t'_1 u) + (1-\alpha) \phi_1(x' + (t'_1 + 2t_1)u)] \right. \\
 &\quad \left. + (1-\lambda) \inf_{t'_2 \in \mathbb{R}} \left(\alpha \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + t'_2 u \right) + (1-\alpha) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \left(t'_2 + 2 \frac{t - \lambda t_1}{1-\lambda} \right) u \right) \right) \right\} \\
 &\geq \sup_{\alpha \in [0,1]} \inf_{\{x' \in u^\perp, t_1 \in \mathbb{R}\}} \left\{ \lambda \inf_{t'_1 \in \mathbb{R}} [\alpha \phi_1(x' + t'_1 u) + (1-\alpha) \phi_1(x' + (t'_1 + 2t_1)u)] \right. \\
 &\quad \left. + (1-\lambda) \inf_{t'_2 \in \mathbb{R}} \left(\alpha \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + t'_2 u \right) + (1-\alpha) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \left(t'_2 + 2 \frac{t - \lambda t_1}{1-\lambda} \right) u \right) \right) \right\} \\
 &= \sup_{\alpha \in [0,1]} \inf_{\{x' \in u^\perp, (t_1, t'_1, t'_2) \in \mathbb{R}^3\}} \left\{ \lambda [\alpha \phi_1(x' + t'_1 u) + (1-\alpha) \phi_1(x' + (t'_1 + 2t_1)u)] \right. \\
 &\quad \left. + (1-\lambda) \left(\alpha \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + t'_2 u \right) + (1-\alpha) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \left(t'_2 + 2 \frac{t - \lambda t_1}{1-\lambda} \right) u \right) \right) \right\} \\
 &= \sup_{\alpha \in [0,1]} \inf_{\{x' \in u^\perp, (t_1, t'_1, t'_2) \in \mathbb{R}^3\}} \left\{ \alpha \left(\lambda \phi_1(x' + t'_1 u) + (1-\lambda) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + t'_2 u \right) \right) \right. \\
 &\quad \left. + (1-\alpha) \left(\lambda \phi_1(x' + (t'_1 + 2t_1)u) + (1-\lambda) \phi_2 \left(\frac{z' - \lambda x'}{1-\lambda} + \left(t'_2 + 2 \frac{t - \lambda t_1}{1-\lambda} \right) u \right) \right) \right\}. \tag{3.6}
 \end{aligned}$$

In the above inequality, let $\begin{bmatrix} t'_1 \\ t'_2 \\ t_1 \end{bmatrix} = \begin{bmatrix} 1 & 0 & 0 \\ -\frac{\lambda}{1-\lambda} & 0 & \frac{1}{1-\lambda} \\ -\frac{1}{2} & \frac{1}{2} & 0 \end{bmatrix} \begin{bmatrix} T'_1 \\ T'_2 \\ T_1 \end{bmatrix}$, by (3.5) and (3.6), we

have

$$\begin{aligned} & \inf \{ \lambda S_u \phi_1(x) + (1 - \lambda) S_u \phi_2(y); \lambda x + (1 - \lambda)y = z \} \\ & \geq \sup_{\alpha \in [0,1]} \inf_{(T_1, T'_1, T'_2) \in \mathbb{R}^3} \inf_{x' \in u^+} \left[\alpha \left\{ \lambda \phi_1(x' + T'_1 u) + (1 - \lambda) \phi_2 \left(\frac{z' - \lambda x'}{1 - \lambda} + \frac{T_1 - \lambda T'_1 u}{1 - \lambda} \right) \right\} \right. \\ & \quad \left. + (1 - \alpha) \left\{ \lambda \phi_1(x' + T'_2 u) + (1 - \lambda) \phi_2 \left(\frac{z' - \lambda x'}{1 - \lambda} + \frac{T_1 + 2t - \lambda T'_2 u}{1 - \lambda} \right) \right\} \right] \\ & \geq S_u(\inf \{ \lambda \phi_1(x) + (1 - \lambda) \phi_2(y); \lambda x + (1 - \lambda)y = z \}). \end{aligned} \tag{3.7}$$

This completes the proof. \square

THEOREM 3.4. *Let $0 < \lambda < 1$ and let $f, g \in L^1 : \mathbb{R}^n \rightarrow \mathbb{R}^+$ be log-concave functions, then*

$$\int_{\mathbb{R}^n} \sup \{ f(x)^\lambda g(y)^{1-\lambda} : \lambda x + (1 - \lambda)y = z \} dz \geq \left(\int_{\mathbb{R}^n} f(z) dz \right)^\lambda \left(\int_{\mathbb{R}^n} g(z) dz \right)^{1-\lambda}.$$

Proof. By the uniform convergence and integral invariance of functional Steiner symmetrizations (see, e.g., [3, 4, 8] for references), there is a sequence of directions $\{u_i\}$ so that

$$\lim_{i \rightarrow \infty} \| S_{u_i} \cdots S_{u_1} f(x) - e^{-h_1(|x|)} \|_1 = 0$$

and

$$\lim_{i \rightarrow \infty} \| S_{u_i} \cdots S_{u_1} g(x) - e^{-h_2(|x|)} \|_1 = 0,$$

where h_1 and h_2 are one-dimensional increasing convex functions and $\int_{\mathbb{R}^n} f(x) dx = \int_{\mathbb{R}^n} e^{-h_1(|x|)} dx$, $\int_{\mathbb{R}^n} g(x) dx = \int_{\mathbb{R}^n} e^{-h_2(|x|)} dx$. Taking limit $i \rightarrow \infty$, by the continuity of integral in $L^1(\mathbb{R}^n)$ and Lemma 3.2 and Lemma 3.3, we have

$$\begin{aligned} & \int_{\mathbb{R}^n} \sup \{ f(x)^\lambda g(y)^{1-\lambda} : \lambda x + (1 - \lambda)y = z \} dz \\ & \geq \int_{\mathbb{R}^n} \sup \{ e^{-[\lambda h_1(|x|) + (1-\lambda)h_2(|y|)]} : \lambda x + (1 - \lambda)y = z \} dz \\ & \geq \left(\int_{\mathbb{R}^n} e^{-h_1(|z|)} dz \right)^\lambda \left(\int_{\mathbb{R}^n} e^{-h_2(|z|)} dz \right)^{1-\lambda} \\ & = \left(\int_{\mathbb{R}^n} f(z) dz \right)^\lambda \left(\int_{\mathbb{R}^n} g(z) dz \right)^{1-\lambda}. \end{aligned}$$

This completes the proof. \square

Acknowledgement. The authors are most grateful to the referee for his many excellent suggestions for improving the original manuscript.

REFERENCES

- [1] S. ARTSTEIN, B. KLARTAG, V. D. MILMAN, *On the Santalò point of a function and a functional Santalò inequality*, *Mathematika* 54 (2004), 33–48.
- [2] F. BARTHE, *On a reverse form of the Brascamp-Lieb inequality*, *Invent. Math.* 134 (1998), 335–361.
- [3] H. J. BRASCAMP, E. H. LIEB, J. M. LUTTINGER, *A General Rearrangement Inequality for Multiple Integrals*, *J. Funct. Anal.* 17 (1974), 227–237.
- [4] A. BURCHARD, *Steiner symmetrization is continuous in $W^{1,p}$* , *Geom. Funct. Anal.* 7 (1997), 823–860.
- [5] A. BURCHARD, *A short course on rearrangement inequalities*, available at <http://www.math.utoronto.ca/almut/rearrange.pdf>, 2009.
- [6] A. CIANCHI, N. FUSCO, *Strict monotonicity of functionals under Steiner symmetrization*, in: *Calculus of Variations: Topics from the Mathematical Heritage of E. De Giorgi*, *Quad. Mat.*, vol. 14, Dept. Math., Seconda Univ. Napoli, Caserta, 2004, pp. 187–220.
- [7] A. CIANCHI, N. FUSCO, *Steiner symmetric extremals in Pölya-Szegő type inequalities*, *Adv. Math.* 203 (2006), 673–728.
- [8] M. FORTIER, *Convergence results for rearrangements: Old and new*, M.S. Thesis, University of Toronto, December 2010.
- [9] R. J. GARDNER, *The Brunn-Minkowski inequality*, *Bull. Amer. Math. Soc.* 39 (2002), 355–405.
- [10] G. PISIER, *The volume of Convex Bodies and Banach Space Geometry*, *Cambridge Tracts in Math.* 94, Cambridge University Press, Cambridge, 1989.
- [11] R. SCHNEIDER, *Convex Bodies: The Brunn-Minkowski Theory*, *Encyclopedia Math. Appl.*, vol. 44, Cambridge University Press, Cambridge, 1993.

(Received November 22, 2012)

Youjiang Lin
School of Mathematical Sciences
Peking University
Beijing, 100871, China
Department of Mathematics
Shanghai University
Shanghai, 200444, China
e-mail: lxyoujiang@126.com

Gangsong Leng
Department of Mathematics
Shanghai University
Shanghai, People's Republic of China 200444
e-mail: gleng@staff.shu.edu.cn